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1.1 0O0oood

O0O0O00ODDO0O0OD0OO%ctave” DO0O0OOO0O0OO
ooboooobOooooOoobOooboooooOooooo
obooooO0ooboobo0obobobo0obooboon
0000000000000 00000000 (history
number) 0000000000000 0OOOOOOO
O0000000000000 (interactive) 00000
ooboooOooboobooboooobobooboooooDbo
oobooobooooboobooooboooobooobo
ooboooobobooobooobobooooboooobo
ooboooobooobOooboboooboooboooooo
gooobobobooboobooooboboboooboooboon

GNU Octave, version 2.1.36 (i686-pc-linux-gnu).
RN (ERED)

Report bugs to <bug-octave@bevo.che.wisc.edu>.

octave:1> <-- 00O0O0OO

OD0000D000quit 0000 exit OO0

1.2 000000

oooobooooooooooooooooooboobooo
sin(l) 0000000000000 “in(1)”? 0000
gb0o0bddbdans = JOO0OOO0ODOODOOOO

octave:1> sin(1)

ans = 0.84147 <-- J0O0O0O0O0O0O0O

octave:2> x

error: ‘x’ undefined near line 2 column 1
octave:2> <-- JO00O0O0O0O0OOOOOOOOOOOODO

gouotd . 000bobood xgdbgboooooan
googoobooobooobbooobbobboon
uoboooooooboooboobobooboooboooobo
000 0oOOoooooooooboobooooogcecoo o
gogbbooboobbooboooboooobooo
goboooboouoboboobobuoobobooooo
OOoctave DO 0O0O0O0O0OOO0O0OOO0DODOOOOOODOO
ooooooooobooobooooo 000000000
O tan(r/5) 0000000 x = tan(pi/5) O0OODOOO

gog

octave:2> x=tan(pi/5)
x = 0.72654
octave:3>

Ubb00Opi0 nO000OO0O0OOOODOODOOOOO
0000000000000 000built-in0 OO (con-
stants) 0000000000

octave:3> e

e = 2.7183

octave:4> i

i=0+13i

octave:5> true

true = 1

octave:6> false

false = 0

octave:7> realmax
1.7977e+308
octave:8> realmin
2.2251e-308

realmax =

realmin =
_/

ooboobooobooboboobbooobooooo
0000000000000 000 (precision) 0000
gobooooobboocoboboboooboooooboooooo
oboobobooboboooooboobobOobooooon
ooobooobooobooboobobooobOooboo
gobooboboooobobooooobooboo
OOOCOOoOOoOoDOOOO0OO0OO0DOoctave DODODODO CO
J0000o0o00O00O0O0O0O0O0O0OO0OO0OO0OO0O0 (double
precision) 000 000000CO0O0OO0OOOOOOO
0000 (floating point) 00000000000 OO
oboo0oobO 16000octave IO OOOOOOOOOO
U0 output_precision U0 U00O0O0O0O0OOO0ODODONO
le0doooooooboooooooboooooobooo
gbooobooobOoobooboobooooboobooooad
obooooboooooobooo

octave:9> output_precision =28

output_precision = 28

octave:10> 1.000000000000001-1.0

ans = 1.110223024625156540423631668e-15
octave:11> 1.0000000000000001-1.0

ans = 0

octave:12> acos(0)
1.570796326794896557998981734e+00
1.570796326794896619231321692 <-- O OO0

ans =

3000 arccos(0) =n/20000000000000O0
gooobboooobbboooobboobb2b00d
gogbodoooobooboobbooboob obod
gd oobbo0obO0o oboooboobboobod
ggobooboobooobuooboobobuoobbod
NaN(Not a Number) 0000 Inf(Infinity) 000000
goboooood
goobooooboboboboboboooogoog
ggbobooboooboobboobobooboboo
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goboobooboooooooboboooboooooooonon

000000000000 “+x 0000 ~ooooo
obooooboflooooogoo
01 0000000
oo oo oo
X+y r+y x0OyO0O
X-y r—y xUOyQOO
X*y Ty xO yQOod
x/y x/y x0OyOOoooOo
rem(x,y) xUdybOoooano

X**y, X7y a? x0O y0O

D0000000000D00000On
(i) sin7/6, tanw/6, arctanm/4, sinh(—1)

(ii) loge, log;,5, €%, e
(iii) sin(0)/0, tan(0)/sin(0), cos(0)/sin(0)

history 0000 history O0000O000O0O000O0O
ooooooooobobobooooooooo1boooon
uoobOooobooobooobooooobooooono
uobooboobooobooooooooooboooooo
OO00000 “nistory” ODODOOOOOO0O0OO00OO
0000 “/.octave_hist OOO0OO0O0OOOODOOO
O00o0000O000O0o00DbO000000 “history 5
0000000 s0000D00O0000O00O0DDDOOO
obooobobobooboNOO0OO0DOO0OOOoOobOoooon

[run_history gooo ]

gboooboboboobooobooboobon

(octave:1> x=1.0; y=2.0;
octave:2> x+y
ans = 3
octave:4> history
1 x=1.0; y=2.0;
2 x+y
3 history
octave:4> x=10;
octave:5> run_history 2 <-— 00U 20000000
ans = 12

ooobooono DOooooboocooobOoooooon
ocoooooboo > oOo00ooboooooooooo
go0ooooooooOooOooooooopooog «7
oobooooboboooboboooobooooboboooobo
ooogooo

000000000003000000000
Do0oooooooo

gog

(1) (z+y)* =2®+ 22y +y*
(ii) cos(f — ¢) = cos b cos ¢ + sin O sin ¢
(ili) sinh(z + y) = sinh(z) cosh(y) + cosh(x) sinh(y)

. 1 . 1
(iv) arctan — = arcsin {/ ——
x 1+ 22

v) || K +x)" 21+ ax
(v) |zl 1000 (1 )~ 1

2 0Odd

gbgboobooboboboboboboobooonog
u:=+-10000141, j, I, JOODOOOOOOOO
goo

oct> i,j,I,J
+ 1i

+ 1i
+ 1i
+ 1i

i =

o O O O

J
I =
J

goooodg

[3+4i, 3+4%i, 3+i*4, 3+4J, 3+4xJ, ... ]

000000000 OOoctave DO ODOOOODODO “O0
70000000000 00000000ooooooo
0000 “00+=” 000000000OODO0O0O000O
oibdbooooooooboooboobooooooo
goooooooooobooooo ooboboo0 4,,1,
gboboooboboooooooobOoddUoctave OO
oboboooboooobooobooboooboooooobooo

oct> i=40

i =40

oct> 3+4xi
ans = 163
oct> 3+4i
ans = 3 + 4i

oboboobooboobooboooooobD =s0oboobo

obooooooooon
gbobooooooobooooboobdyioooo

obooooboooooboooo

[x+y*i, x+ixy, x+y*J, x+J*xy, ... ]

00000000000000000000 §,j,1,J0
ggoboobboobooboobooooobooo
gbboodobbooobbboouobbuoooboboo
gogboooboooboooboobbuoo oboda
goood
gbbogoobbdoobbooobobobooobobo
00000 (real part)D 000 (imaginary part)0 0 O
(argument)00 O (conjunction) 000000000000
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oct> z=3+4i
z =3+ 4i
oct> real(z), imag(z), arg(z), conj(z)

ans = 3
ans = 4
ans = 0.92730

ans = 3 - 4i

oct> tan(arg(z))

ans = 1.3333 <-- 4/3 0000
oct> z72

ans = -7 + 24i
. Y,

g2000000000000D00000DbOn

02 000000000

oo oo ao
real(z) Relz] = z —;Z* z0000
imag(z) Im[z] = z ;ZZ* z00O0O0O
conj(z) 000 z z 00000
arg(z)  Arg(z) = arctan Erelg z000O
abs (z) lz| = Vz*z z00O0O0O
00 3] 0DDODOOO (00)00O0ODDDOOO0OO0O0OOD

O00J,(2) 0 nO0O0O 10 Bessel 000 0Ooctave OO
besselj(n,z) JO0OOO0O0O0O00OOOO0DODODO

(1) A+ Vi, (=140, i

(ii) sin(1+4), tanh(1 —1d), e % log(i)

(iii) Jo(1 — 1), Jo(1+1)

o0ooo0oo0o0O00 OoOoooOoOoOoOooOOoOoOoOoO0OO0OO
oo000o0oOoOoOoOooOoOoO0obob0O0o0o0ooo0o0o0n
O0oO0o0ooO0ooo0o0o0o0o0oooooooon
“PSi="strings"” O OO0O strings 00000000
O00O0Ooctave 000000000 DOO0O0O0O0CDOOOO
OD0000000000000 ~/.octaverc 00000
000oooooon

PS1="oct> "
output_precision=6
PI=pi

00 4] 0DODOODODOOOOOO0300000000
00000000000

(i) |z| = Vz*z, Re[z] =

z+z*
2

log z

(ii) e"”* =cosz+isinz, e
eiz +e—iz
2

(iv) cos?z+4sin?z =1, cosh?z —sinh? z =1

=z

(iii) cosz =

gog

(v) sin(z1 + 2z2) = sin 21 cos 23 + €os 21 sin 22

(vi) sin(iz) = isinh(z), cos(iz) = cosh(z)

3 doouoood

ooooooboooobooobooooooooooo
gbobooobobOooooobooooooobooooo
ooboooooboooooboboooobono 1x10000d
0(00000000000)0 1xnO00O00mx10
gboboooooooboboboboboboobooon
boooooobobooooobobooooooono
oboboooboooobooboooobooboooboooobooo
o0 octave HODOO0DO0DOODODOODOODOOO
gbobooobooooboooboooobooooboooooo
gbooooobooooon

3.1 0oggn

oobobobobobobobobobobobobo
gobooobobooooboooobooooboooooo
ooooo “f0 1P000000000oo0oooo
oooooooooooooooooooooboog 47
gooooo

oct> A=[1 2 3; 4 5 6]
A
2 3
5 6

|

oct> A(1,3), A(1,:), A(2,2:3)

00000000000 4;0000000 «7v 000
gbobooooboooboobobobobOobooboooo
OO00000O000oooO0000n0 ADOoOOO 2x3
oooooooOo @,3n oooooooooooooo
00000 0oo0oooUooooooooo@Wooon)
gobooooboooooboooboooboooooo
gboboobboooooooboooooooobooooo
oboboobooboobgoctave DOOOOOOO0OOO
obooooboooooo
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oct> A(3,3)=1+2i oct> linspace(0,pi,5)

A= ans =

1 +0i 2+ 0i 3+ 0i 0.00000 0.78540 1.57080 2.35619 3.14159
4 +0i 5+ 0i 6 + 01

0+0i 0+0i 1+ 2i oct> logspace(0,1,5)

ans =

poobooboboobaoboobobooboobon 1.0000 1.7783 3.1623 5.6234 10.0000
goooOol1o00x 1000 000000000 0OOOOOO
ooooo
[oct> €(1000,1000)=0; <-- ; 00O0ODOOOO... ] 3.1.3 Ooopdo
oooooCcOo00o0n0oooooooooooonon gdooooooooooooooooboooooon

000000000000 o0oooooooooooon O00oo0o0oooooooooooobooooboooono

00000000000000000000000000 poBoooooooood
00000

oct> a=[1 2 3]; b=[9 8 7]; [a b], [a; b] 0D 3 boooodooogn
ans = ood goooooo
1 2 3 9 8 7

zeros(N,M)Ozeros(N) OO0 0* 0000

ans = ones(N,M)Jones(N) 0O0O0O0O 100000
1 2 3 eye,M)Jeye() 00000 100 0*000
9 8 7 ogd
rand(N,M)0rand(N), OODODO (0,1) 000000
rand("seed",x) O " 7seed” OOOD0O 20O
3.1.1 00000 ooo
randn(N,M)Orandn(N), 0000000000 *
000000000000 000000000000 randn("seed" ,x) 00000000 rand() O
00“00:00:00”000000000000000 o0
000 1000000000000000000000 hilb() ZDH%TDD
000000000000000000 KAy
r ~ invhilb(N) N O Hilbert 00D DDOO
oct> 1:0.2:2
ans = *NxMOOOO NOOOO
1.0000 1.2000 1.4000 1.6000 1.8000 2.0000
oct> 1:5
ans =
3.2 UJ0O0OUOOoooood

1 2 3 4 5

oct> 1:-0.3:0 gboboobobobobobobooooooog
ans = ggbooooobobobobooooooboooboba

1.00000 0.70000 0.40000 0.10000 ooboooboooooooooobooooooooooo
gooaooo

O0Ooctave D0 000000000 (range) 0000
000000000000D00000000000000
00000000000000000000000000 391 OoOoOOOOO0

god
00 AO0OO0OD A~'000000000000ooo
good
3.1.2 linspace, logspace
' o8 [&mwmmmmm C=A" ]

uooobooooobooooobbooboooon
Uo0o0O0000000000000001linspace O
logspace U UOOOOOOOOOOOO 100000
gobobobobbo~O00O0ODODODODODODOD
googooo

000000000000 000000 ATOoooooo
gbobooooooobooboboooboboooooon
oboooooboooobooooooboobooooooo
gooooobooooooobobooooooboooo

gog
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c=A> 0000000 C=4" [Cy;=4;]
c=A.’0D00 C=AT [Cij:Aji]

uboboboboboboboboboboboooo
goboboboboboboboooooooooogon
uboobooboobooboboboobooboon

obooooOobooooooobobooooooboobooon
bobobobobboboboboboobobon
gobooobboobboobobooobboooooo
ooboooobobooobooobooooobooooono
ooooooboooo

oct> a=[1:0.5:2]; b=linspace(0,pi,3);
oct> [a’ b’ sin(b’)]
ans =

1.00000 0.00000 0.00000

1.50000 1.57080 1.00000

2.00000 3.14159 0.00000

3.22 0000

00000000 ADBOOODOOODOOODOOOO
obooooooooboobooboooboobonoo

(oct> A=ones(2); B=3xeye(2);
oct> A+B, A-B, Ax*B
ans =
4 1 <= ] 11| +130]
1 4 [ 11| | 03|
ans =
-2 1 <—=1]11]-130]
1 -2 [ 11| | 03|

B/A0 O OO
ABOOOO

gobobooobooboobooobooooboooooo
oooooboooooobooooobooobooooooo
oboooooboobooboboooobooooo

A\B=X 0O B=AX 00O

B/A=X [ B=XA [ [J |

oo0oO0o0O0O0O00000000D0 eO0D0 AOOO
obooooooobooobooobooooonon 1x10d
gbogobooboboobooboobobobogboon
gbooboobooboobobbobobooobooboog
000000000 eA=(ad;;) 000000 0O0OOCO
goboboooooboooooboooooobobooobooon
O00O0OOoctave 000 AQOO0OOOOODOODOOQO a
gobobobooboobooboobooobon

oct> a=1;A=eye(3); a+A, axones(3)+A
ans =
1

2
1 1
1

=N e

== N
=N e
(=

goboooboooboooboooobooooboooo
gobooooooooboooooooooboooooo
goo

gbO s 000booboobooobo

gbobdoboboboboboboooooooooon
OO0 AOAmx[0000 BOlxeO00OD0OOODOO
0 C=AE0mxn00000000000000000O
ooboooobOooooOoooobooOoooooooono
gbobobobobobobboboboboboboon
0000 BO OO AO0DOOOOOOOO

[B+A — BA™! ]

O000000000000000000000 A0
oobooooboobooooboooooooboooooon
gooobooooboooog

[EI OO0 BA'#£A47'B ]

oobooobOoobooooboooooooobbooooDo
uoooobooooooobooooooobooooooon
0000 octave DO DOODOOOO

gog

5000000
00000 000 7x300
00 [-55]0 100000000000000000
iv) A, =4jk* 000 7x300
A

; k
v szﬂn(g>cw(i7[1558x4mm

1

(1)
(ii)
(iif)
(iv)
(v)

3.23 0O00OO0OOOOOOOO

gboobobobobboboboooooooonog
gboboobobooobooooboooboobooooobooo
gbobooobooooboooboobooooooooo
gboboboboboboboobobobobaoda
gobgobooobobooboobooobo
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C=A.+BOOOO0O0O Ci = Aij + Bij
C=A.-BOOOOOO Cij = A;; — By
C=A.xBO0O O OO0 Cj = AijByj
C=A/BDDDDDD Cz]:A”/BZ]
C=A."pU 00000 Cij:Af-
Cc=f£(M)00000000 Ciy = f(Ais)

ooboooobOoobooooboooooobooooobo
ooooOooboboOooboooboooooobooooDo
obooboobooooboooogoboooo
Oo0oO0OO0OQ0OD0 ADDOOOOoOoooooo APo0d
oboooooooobooboooooboooon

c:  c c*
(e
[6 _1+C+E+§+”.+ﬁ+.”

oboooobobooooboooboobooooomOOO
obooobooooobooboon

C=exp(A)0 C;; = exp(Ci )
C=expm(A)O Ci; = exp(C)ij

OOOOCOOD0ODODDDOODODO logmMHOOOOOO
sqrtm(A) 000000

xy, = kr /100y, = kr/20 (k = 0,1,2,---,10)
O0000A, =sin(zg)cos(yy) 000000 100000
000000000000

[0] OOD0OOO0UO0D0ODOOO0OUOO0OOnD for OO0
ooo

for k=0:10
A(k)=sin(k*pi/10)*cos (k*pi/20);
endfor

gboobobobobobbooboboboboonbon
go

x=linspace(0,pi,11);
y=linspace(0,pi/2,11);
A=sin(x) .*cos(y);

gbO000Ooctave DODODOODOOO

4 0OO0oogd

odo0o0d0ooooooooooooooooooon
0000do0o0oo0Doooooooooooooooa
O00oo00oooooooooooooooooooon
0000000000000 00D00000n Octave O
000000000000000 |gnuplotf 0000000
000000000 Octave 000000 Mathmatica O
O000000oooooooooooonn Matlab OO
0000000000000000000 MatlabO0O0O
00000000000 D0DOoooooo0oooOooDoooon

gog

O000D0PostScripp 000000000 DOOOOO30O
O0000D0o0O0O000000D0O0gnuplot 00O
O0000O0000OO00O0000D0OD0O0Matlabd0O0O
oboooobooooboooobbooboooobooooo
00 MatlabOOOOO gnuplot OOOOOOOOOOO
gboooooooooon

4.1 20000000 plot

gobobooobod vi,v20 2, y 0000 200
gbooooboooobobooooboooo

(plot(vl,vQ,opt'L'ons) j

UO000options OO OOOOOOOO0DOOOODOO0O
obobooboboobooooonog G(x):efﬁDD
oboooooooboooaoo

oct> x=linspace(-3,3,100);
oct> G=exp(-x.72);
oct> plot(x,G);

x, GOOOOOOOO0DOOO0OO0O0OO0O0b00000a0
ooooo

[m] Gnuplot x|

01 plot 00000 GaussODOOOOODOX1100O
oboooobooooooobn

4.1.1 0OOO0OO0OO0OOOOO

ooooooboooooooboodplet0DOOOODO
gooooooo

logx —yO semilogx(...)
x —logyd semilogy(...)
logxz — logyO loglog(...)

00000000000 r=f6¢) 0000000000
O00000000Opolar(...) OOODDODO
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4.2 0OO0OO0OOO0OO0OO0

ubogbuoobooobogobobbooboobooo

4.2.1 plot000O00O00O

O000000000O0plotO 0O0O0O0O0O0O0DOOOO
gboooboooboooon

[plot(vl,vQ,options, ul,u2,options, ...) ]

oooooooooboobobobooobooogoo
obooobOoooobooboooooboo 200

+x

oct> x=linspace(-3,3,100);

oct> x2=2%*x;

oct> G=exp(-x.72);

oct> L=1./(1+x2.72);

oct> plot(x,G,";Gauss;",x2,F,";Lorentz;");

[\ Gauss
09 f \ Lorentz

08| 1
07 1
02} 1

0.1 r 4

02 plot 00000 200000000000000
PostScript 0 0 0000000000 O0X1100000
ooooboooo

4.2.2 holdon OOOOO

Ubo0o0O00o0000b00 nold on UOOOOOODO
OO0 hold off 00 O0Oplot() DOOUODOOOOOOO
oobooOoobOooboobobOoobOoobooboOoon
oboooobooooboboooooboooooDboon

oct> x=linspace(-3,3,100);
oct> G=exp(-x.72);

oct> plot(x,G,";Gauss;");

oct> hold on <—- 0000000
oct> x2=2x%x;

oct> L=1./(1+x2.72);

oct> plot(x2,F,";Lorentz;");

( 1

1000 200000000000000000R20000

gog

goboobooobood

4.2.3 subplot 000

00 20000001 000000000000DOO0
subplot(m,n,k) 0 1000000 mO xnO0O OOO
0 kO00O0O0O0ODOO0O00OOCOOO

subplot(m,n,1); plot();
subplot(m,n,2); plot();

goboboaobooaboaoobaoo

UdOd 1 subplot2d.m

: x=linspace(-3,3,100);

1 X2=2%X;

1 G=exp(-x.72);

: L=1./(1+x2.72);

: gset term postscript eps color "Helvetica" 14
: gset out "subplot2d.eps"

: subplot(2,2,1)

: plot(x,G,";Gauss;");

: subplot(2,2,2)

10 : plot(x2,L,";Lorentz;");

11 : subplot(2,2,3)

12: plot(x,G,";Gauss;",x2,L,";Lorentz;");
13: subplot(2,2,4)

14 : plot(x,3*G,";Gauss;");

15: hold on

16 : plot(x2,2+L+1,";Lorentz;");

00 ~NO U WN -

©

gobogo2000000000000000000A0
000000000 0000o0oDOoO000O0300 plot
obooooobooooconbon

T T T u T
09 F / \\ Gauss i 09 F / \\ Lorentz B
0.8 E 08 [ g
07 / \ q 0.7 [\ q
06 - / \ 4 06 B
05 / \ B 05 / \ B
0.4 - \ 1 0.4 - q
\ / \
03 | \ A 03 | / \ b
02 | / \ B 02 | // \\ B
01 B 01| q
0 + / L L L \ e 0 — L L L L —
3 2 1 0 1 2 3 -6 4 2 0 2 4 6
1 T T 7T T T 3 T T
09 F /\  Gauss B |\  Gauss
. [ | Lorentz 25k [ | Lorentz i
08 \ q ) \
0.7 | b Pys 4
0.6 q
05 - 15 u
04 | q
03 B ir 1
L / \ 4 / \
0.2 05 L ]
01 / \ q / \
0 ! v I 4 ! 0 I v I 4 I
6 4 2 0 2 4 6 6 4 2 0 2 4 6

U3 subplot UODOO1000000D0O000OO0O
gbooooboobooooobobooooboooo
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4.3 30000000 mesh

3000000000 mesh O z= f(z,y) OOOODO
z0z,yOOOOOUOOOoOOODOOODOOO0OOOOO
f(z,y,2) =C 00000 (implicit) 000000000
OO0000O0OMatlabO0O0DOOOOO

plot 0000000000 000000000 mxn
gogoobbbbooooobobo

z(x1, y1) z(x1, y2) z(x1, y3) ... z(x1l, yn)
z(x2, y1) z(x2, y2) z(x2, y3) ... z(x2, yn)
z(xm, y1) z(xm, y2) z(xm, y3) ... z(xm, yn)

U00Oz,y OOOODOODODOOOOOOODODODOD
ooboobobooooboooboooboooboobo
oboboobooboobon z,y 00000000000
oo

[[X,Y] =meshgrid(x,y); ]

boboboboooboboboboboobobon
goao

Bessel function of the first kind, order 1

Re[J1(z)]

AbONPRrORNMWA

04 mesh 000 BesselOO Ji(z) 0 30000

gog

OO0 2 bessel.m

: N=50;M=25;

: x=linspace(0,10,N);

: y=linspace(0,3,M);

: [X,Y]=meshgrid(x,y);

i Z=X+Yx*i;

: J=besselj(1,Z);

: title("{/Times=30 Besel Function of the \
: first kind, order 1}")

9: xlabel("Re[z]")

10 : ylabel("Im{z}")

11: zlabel("Re[J1(z)1™)

12: gset ticslevel O;

13: gset nokey

14 : mesh(X,Y,real(J));

15 : pause

16 : gset term postscript enhanced eps color \
17 : "Helvetica" 20

W N0 WN -

18 : gset output "bessel.eps"
19 : replot

O000O0OOcontour 000 000000000000
0000000000000 000dcontour OO0O0O
00000000000 meshO0O0O0O0OO0OOODOOOO
O00000dcontour(x,y,z) 00O x,y OODOOODOO
ooo0ooooDOooooooooog

000 3 bessel-c.m

: N=50;M=25;

: x=linspace(0,10,N);

: y=linspace(0,3,M);

: [X,Y]=meshgrid(x,y);

1 Z=X4Y*i;

: J=besselj(1,Z);

: title("{/Times=30 Contour plot of J_1(z)}")
: xlabel("Re[z]")

9: ylabel("Im{z}")

10 : zlabel("Re[J1(z)1")

11: gset ticslevel O;

12 : gset nokey

13: gset size square

14 : contour(y,x,real(J));

15 : pause

16 : gset term postscript enhanced eps color \
17 "Helvetica" 20

W N0 WN -

18 : gset output "bessel-c.eps"
19 : replot

4.4 0000000 ete.

0000000 (title)D O (axis)D 0O (tics) 0000
00000000000000000000000000
00000000000000000000000000
00000000000000000000
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Contour plot of J;(2)

0
0 05 1 15 2 25 3
Re[z]

05 contour 000 BesselOO Ji(z) 00000

4.4.1 000O0DOAO title

uoboboooobooobooooboboooooboooon
ooo

[title("st'r'ings") j

oboob0Oz200000000000000000000£0
goobobobbooooooobobbboooooon
0000000000000 Octave DOOOOODOOO
date 00000000O000000O00O000O0O sprintf
OooODoOOtitle 000000000000 OOOOOO
gooooooooo

Title = sprintf("The date is %s", date());
title(Title)

4.4.2 [O0axis

00000000 axisODOOODOOOO

[axis([xs, xf, ys, yf, zs, zf]l, "options") ]

goobobobobobe,y,z 000000000000
Udddy,z000000D0O0O00O0C0C0C0O00QCOoptions
O00OO0Ohelp axis U0 OO0O0O0O0O0O0ODO0OOOO
0oobbObO00dd squarellequal DO O OO0OOMO
gooobooboobbobobobobdgbd square O
uboobooooooobobOobobOobidn equal O
oooOooboobooobboooooobboooboooobo

gbooobooboboobooobooboobonbobo

s N
oct> t=linspace(0,2%pi,101);

oct> plot(sin(t),cos(t))
oct> axis("square");

oct> replot

oct> axis([-2, 2],"square");
oct> replot

oct> axis([-2, 2],"equal");
oct> replot

gog

4.4.3 0000 text

Ubo000booobo0 textO0OOODOOOOOOO
gbooooooooooon

[text(x, yl, 2], *doo», "O00O", OOO) J

ooooo x, yl[, 21 000000C0O000DOCOOOO
U000 units DO000O0OD0OOOOODOOOOO data”0 O
gboooobooboobooooooooboobooboooo
0000000000000 "screen" O0OOOO0OOO
gbogbooboobooobooooooooooobaod
goboooboobooboobooboobooo

[text(0.0S, 0.95, "01ks000", "Units", "screen"); ]

gbobobobobobobobobooboooooboon
title 0 DOO0O000O0OOsprintf() D000 text 00O
gboooobooboooboboooboobooon

4.5 gset, gplot, gsplot

gooooooobobooobobooboooboog
O000MatlabOOOODOOOODOOOOODOOOO
OO0 octave OO OOOODOOOOODOOOCOODOO
0000000ooooooooon gnuplot 0O0ODOOO
gobgoboboboobooboobooo

0000 gnuplot 000 O0000DODDDDDODDOOO
oboboobooobooobooooboooobooooooo
goboboboobboobooboobn

4.5.1 gset

egnuplot 00 000000000000 set .... OO
O000000D000O0OD0OgDnD octave DOODOODOO
0 gset 00O

ub obooboboboooboboboobgoboobd
O00o0o0bDO0d0OMatlabOOOO0ODO print DO OO
OO0O0Ooctave DOOOO0O0OOO0OOO0OOCOODODOO
OOOgnuplot 0ODOOOOOO0ODDOOOOOOOOO
goobobooon

gset term postscript enhanced eps color \
"Helvetica" 20

gset out "kadai.eps"

replot

O0000D0O00DODO0ODOOD00OO0O0O PostScript
OO0 pSOOO0OO0O0ODOOOOODOOOODOOOO
oOooooooooo pSOO0OO0DODOOOODOOOO
O0terminal0O0000O000D0O0OOCOOO0ODOOOO
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OOD0O0O0OCOOCDO0ODO enhanced 0 PSODODOOOOO
O00000000000D00D0OD epsd encapsulated
pSOOOOOO0OOCOOOOOCOOOOOCODOOOOOO
O00000000Ocolor 00000000 0O0OOOO
monochrome 0 O OOOO "Helvetica" 2000000
obooboooooboooobooooooooooo
000 Helvetical Times[ Courier[ Symbol O O O[O
obo4000000000000000D0O0

000 4 textfont.m

1: plot([O0, 1], [0, 11, ".;;");

2: text(0.05, 0.9, "Helveta ABC abc 10~{-2}y_{j}", \
3: "FontName", "Helvetica", "FontSize", 36);

4: text(0.05, 0.7, "Times ABC abc 10~{-2}y_{j}", \
5: "FontName", "Times", "FontSize", 36);

6: text(0.05, 0.5, "Courier ABC abc 10°{-2}y_{j}", \
7 "FontName", "Courier", "FontSize", 36);

8: text(0.05, 0.3, "Symbol ABC abc 10°{-2}y_{j}", \
9: "FontName", "Symbol", "FontSize", 36);

10 : text(0.05, 0.1, "Compound {/Symbol s = pra~{2}", \
11: "FontName", "Times", "FontSize", 36);

13: gset term postscript enhanced eps color
14 : gset out "textfont.eps"
15: replot

1 T

Helveta ABC abc 10'2yj

Times ABC abc 1077y,

0.6 B

Courier ABC abc 10 %y

04t B

SupoN ABX apy 107y,

0.2 B

Compound o = 13

0 L L L
0 0.2 0.4 0.6 0.8 1

06 UO0O0OO0O04000000000O

4.5.2 gplot

Gnuplot 0 2000000000000 plot ... O
00 Ocatve O gplot O gnuplot O plot 0000000
000000000000000000000D00000
000000000020 00000000000000
goooooooooobbobobboboooooooogn
goood

gog

ode> t=linspace(0, 2xpi, 101);

ode> data=[t’ sin(t’)];

ode> gplot data with steps title "step"

ode> gplot data with impulses title "impulse"

O0000O0octave DOO0D0OOOOOO gnuplot 00O
000o0o000oboOoOonO gnuplot DOOOOOODODOOO
000000000 0sin(z)/z 000000000 (Ip0
linespoints) 00000000 60 (ptO point-type) O O
O 4(psU point-size)J 00 12 0 (It:line-type) O O 3(lwO
line-width) 0000000000

[oct> gplot "sin(x)/x 1lp 1t 12 1w 3 pt 6 ps 4" ]

0000000000000 O0Ognuplot 0O0O0OOOO
gboooooobbooobobOoobonfd octave U
gboooooooooon

4.6 gsplot

Gnuplot 0 300000000000O0DO splot OOO
Gnuplot O plot 00 00 gplot 0000 OOcatve O splot
000D00D000000000000 gsplot OO Ogsplot
Ogplot 00OO0OOOODOODODODOO meshOODOOO
ggod 3sgguobobobbooooo

30000 meshOOOOOODODOODOODOO3D000
O0000oDoo0O0o00oooooDoDDn gsplot OO
O000O0Ogplot O plot O z,y 00 O000O0OOgsplot OO
gset parametric U0 00000z, y,z JO0DOOOOO
gboboooboo1bos3sgobooboooobooooog
obooooboooooobonoo

07 000000D0O0O0parametricO0O00000O
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OO0 5 spiral.m

000 6 diff-ex.m

: t=linspace(0, 6%pi, 201);
: x=(140.1%t) .*cos (t) ;

¢ y=(1+0.1%t) .*sin(t);

: z=t;

: data = [x’ y’ 2’];

: xlabel("{/Times=28 x}");
: ylabel("{/Times=29 y}");
: grid

9: gset parametric

10: gset ticslevel O

11: gset nokey

12: gset ztics 5

13 : gsplot data

14 : pause

15: %

16 : gset term postscript enhanced eps color \
17 "Helvetica" 20

18 : gset out "spiral.eps"

19 : replot

00N Od WN -

5 0o

00 Octave 000000000000 OODOOOO
diff(X,K) 00K 0D0ODD0D0ODDO000000O0O0O
oooooooog

‘éi ~ fn+l _’fn

dr  Tpi1—Tn
0000000100000 Afy = far, — fo 0000
0000000000 220000 3220000000
00000000000000000000000000
000000000000000000000000000
000O00DDO0O000000000000O =, 0000
0 [zn,2nsa] 00000000 224 nnggoQ
00000000000000000000000000
oooooooooooo

T'heoret!;:al

Numerical ———

25

15

df/dx

0 01 02 03 04 05 06 07 08 09 1
X

08 22000 322000000000

gog

: N=200;x0=0;x1=1;

: X=linspace(x0,x1,N);

: dx=(x1-x0)/N;

: XC=linspace(x0+dx/2,x1-dx/2,N-1);
: F=X."3;

: DFT=3*XC."2;

: DFN=diff (F)/dx;

: xlabel("x");

9: ylabel("df/dx");

10 : plot(XC,DFT);

11: hold on

12: plot(XC,DFN);

13: pause

14: hold off

15: #

16 : # for creating PS figure.

17 . #

18 : data = [XC’, DFT’, DFN’];

19 : gset key left

20 : gset term postscript eps "Helvetica" 20
21: gset xlabel "x" "Helvetica,b24"

22: gset ylabel "df/dx" 1,0 "Helvetica,24"
23 : gset out "diff-ex.eps"

24 : gplot data t "Theoretical", \

25: data using 1:3 t "Numerical"

W N0 WN -

00 2*000002000000000000

goboooboooobooboooobooooobooooooo
oboooooooo

6 O04O

100000 f(zyOODODODODOODODOOOOODOOO
000000000000 quad (Quadrature) 0O 00O
gon

@OctaveDDDDDDDDDDDDDDDDDDDDDDDDDD
o000OoO0000000000000000000008 quad1 000
oooooooooooboooooobooobObOOOOO00O000O0g
2030000000 nOOODOOOCOOOOOOOODOOODODOO

6.1 quad

goboboobooboobooo

[quad(F, A, B, TOL, SING) ]

FOOOOOA,BOODOOOOODOOTOLOOODOOOOO
gboooooog sincOooooooooooooooo
000000000000 0o0oo Si(z) 000000
gobogoooboooboobooo
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ooQ0 7 Si.m

: function ret=si(x)
ret=sin(x)/x;
: endfunction

: DIV=201;

: x=linspace(eps,50,DIV);

: for k=1:DIV

y(k)=quad("si", 0, x(k), [0;1e-6]);
9: endfor

0 N O WN -

11 : xlabel("x");

12: ylabel("Si(x)");

13: plot(x,y, ";Si(x);");

14 : hold on

15 : plot(x,pi/2*ones(1,DIV), ";PI/2;");
16 : pause

17 : #

18 : # for creating PS figure

19: #

20 : gset term postscript eps "Helvetica" 20
21: gset xlabel "x" "Helvetica,24"

22: gset ylabel "Si(x)" "Helvetica,24"

23 : gset out "Si.eps"

24 : replot

Si(x)
] J—
=
(%)
o . . . .
0 10 20 30 40 50
X
. Tsin &
09 0000 quad DOODOOODO Si(z) = ¢ d€
0

oo

0000000000000 quud 00000
O000O0Ooctave 000000 inf 000000

/2 /2

(1)/ sinxdx:/ coszdr =1
0 0

(ii) /xsinxdmzw /xcosxdx:—2
0 0

* dx 0 o 23 t
i) [ =T dr =

7T Uooooon

obooooooooobooooobooooooon
ooboooboooooboboooooboooooooonbo

gog

gbooobobobobobooooobobooboog
gboooooooooon

7.1 0000

oobooobooooooOoooobooobooooon
gogbobooobobooobbodo obbooboad
gobo o ooo boboboobo 0D oboooo
gooooao

if JO00O1, OO0O1
else OJOOO
end[if]

oo0oo0o0obo0oooboooobbUd endddgg
gobooboboooboooboooooooooooo
Ubb000D0endif 0000000000 0OOO0OOOO
oooo

oct> x=3;

oct> if x >= 2, x <-——-x 0 20000 x O0O0O

> else x-3 <-- 0JO00DbO0oO0Oo x-3 000

> end <--if 0JO0O0d

x =3 <-- 3> 2000 x=3 000

oct> if x < 2, x
> else x-3

> end

ans = 0

gbooobooboooooboooobobooogo

if JO00O1, O0O0O1
elseif O0O0O2, O0OO2

elseif OO0k, OO0k
else JOOO
end

0000000000000 historyOOODOOOOO
gboooooooooon

oct> x=1;

oct> if x < 1, 1
ans = 0.50000
oct> x=2;

oct> if x < 1, 1
ans = 0

elseif x > 1, 0 else 1/2 end

elseif x > 1, 0 else 1/2 end
oct> x=-1;

oct> if x < 1, 1
ans = 1

elseif x > 1, 0 else 1/2 end

7.1.1 000000000

ooo0b0D“% >1 000 x< -1 000000070
gooooooooobD foooooooooooooo
o0 oobooo obooboooobob oo

gboooboooooooboog
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04 Octave OOOO0O0O
oo 000 00

| AlB AOO0O B Oord
& A&B A 00O BOandO
~ ~A A 0000OnotO
s M
oct> x=0;
oct> if x < -1 | x > 1, 1 else 0 end
ans = 0
oct> x=2;
oct> if x < -1 | x > 1, 1 else 0 end
ans = 1
oct> x=0
oct> if x < 1 & x > -1, 1 else 0 end
kans =1 )

gbobobobobooboboboobobobo
goooboobboboobooboooo

05 Octave DOOOO0O
oo ooo oad

< A<B A0OBOOOOOO
<= A<=B A0 BOO

> A>B AOBOOOOO
> A>>B A0 BOO

== A==B A0 BOOOO
= AT=B A0 BOOOOOO

gbogboobooobooboobooobon

[ifA==BI] if A=B 0O0O0OOOOOOO :)

oboodoobooooooboboooboooooooono
gooo

(DD +=>, =<, =" 0000000000 }

oooobooogon

71.2 0000000DOOOO

Octave 0O OO0O0ODOOODOOOOOOOOO
oooobooobooobooobooobooooooDo
uboboboooooobooboooboob ooo 1
gboooocOoooboooboooobobooboboboon
oobooboooobooooboooooooobooooon
goboooooboooooooooo oboooboooo
puboooobooboooboobOob iooboobooo

gog

oct> A=[1 2 3 4]; B=[1 0 1 0];
oct> !B, A>B, A&B
ans =

01 0 1

ans =

01 1 1

ans =

1010

000000000000 D00oDoog

(i) 00 x0O0O0O0OO0OO0OO0 100000 oOOOOOOO
-1ggoooo

(i) OO0 x0O0O0O0O0O0OOOO 00000 OOOOO
gpoooo «~»googod
ooo0:.0ooooooooogo v QOoO0O0O0O0OOoO00OO0
"abc" "String" "+-"

(i) OO t+0 1200000 2400000 12000
gobobooooUobboOonO 2400000 Out of
range! DO0OO00ODO 1200000000000
goo

7.2 0000

obooooooobooboobooboooobooon
ggbbooobooobooobooboboo obbad
gon

7.2.1 WHILE 00O

cOoOU0OopoOoOoOODOOoOoOoOO00On whileOO
gboooooboooo

while O OO
ooad
end[while]

gooboo 100 s0b00b00boboo

oct> x = 1; while x <= 5, x**2, x++; end
1

:

ans = 9
ans = 16
ans = 25

goooooodx++0 ++00000000DO0ODOOO
UxOOo 1g00o0oo0oo0ooo

7.2.2 FOR OODO

while 00 D0000000DO0OO0OO0ODDOOOOO
oobooooboooooooboooobooooboooo
ooooobobooobobooooooooboooooo
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FOROOOO

-

for k = 00
ooo

Kend[for]

good

oct> for i=1:0.5:2 i**2 end
ans = 1
2.2500

ans 4
. J

D00000000000000000000

000000000
(i) 500 Hilbert 000 hy; =1/(i+j—1)0000000

ans

g% 3130000 000000Hibert 000000000
hilb(N) 0000000000000 000O0O0ODOO0O0O0OOO0
goooooooo

(i) 0000000 0Oby =0, by = 1,by = by_o+b,_10
0000 1000000000000000000

@FibonacciDDDDDDDDDDDDDDD n 000000
gooooo

) 1 1-‘,-\/5 n+1 1_\/5 n+1
"5 2 B 2

73 ODOooood

gbobooboobobobobooboobobgonoa
OO00D0O000000C0D0ODOO000000000 Octave
gboooboobooboobooooboobo

function [ODOOO0O] =000 (QOODOO)
ooog
end [function]

0000000000000 000000O0@Mooon)
goo0o0oO0ooooooOobOoooobooloboooo
00000D0OO0DOO0DOO0ODOO0ObOO0ObOObOOooOoooDOon
000Oo0o0oo0o0Ooo0obOOo0o0DO 1000o0o000n
odoooooboooooboooooooboooono r
J0o0obooooobbobb0D0O0O0 circlearea OO0
ooo0ooooooooo

oct> function s = circlearea(r) s=pi*r."2; end
oct> circlearea(5)
ans = 78.540
oct> circlearea([1 2; 3 4])
ans =
3.1416 12.5664
28.2743 50.2655

J

ooOoO0ODODODOOO0000O00000gg “pi*r.”2”
Do00ooooOog“pixr-27 00 0000OOOODOODOO

gog

gboobooooooobobobobOoibg circle O
gboooooooo

oct> function [s,l]l=circle(r)
> s=pi*r."2; 1=2*pi*r;
> end
oct> [S,L]l=circle([1,2,3,4])
S =
3.1416 12.5664 28.2743 50.2655
L =
6.2832

12.5664 18.8496 25.1327

gbooobodoogboaodg
gobooboobood

(Coooolooogooo

0000000000000000000

(i) 0003000000 @,b000c=axbO00
000 vecprod(a,b)d

(i) 00000 22 4+br+c=000000000000
00000 secpol(b,c)0 OO0 D=0b%—4c00
0000000000 000000

@OctaveDDDDDDDDDDDDDD “roots(V)” 00O
oobovOoOoooooooooooooooboooooooooo
000000000000 “roots([1,b,c])” 00000000
oooo

74 O4O0oogooOO

goboooboooobooobooooooooooon
gbbobubuoboooooouoooooooabaod
0000000000 Octave OOOOOOOOOOOO
gboooobOoooooboboooog snputlist O
ooboooboooooooboooobooooobooooo
gboboboboobooooboboboboboaod
goboooooboobao

oct> k =5; <-——k0OOOO

oct> function tslocal(x) k=x**2 end
oct> tslocal(8)

k=64 <—- 000000000 x0O0O

oct> k

k=5 <-—-000x000000000

gooooboooobooboobooboooboooooo
obobooobooboooboooobooooooboooooo
ooobooboooboboboobobuoboboobogo oo
goooooboooboobooboobooooooo
obobooobooooooooobooooboooooo
oooooooobooobooboobooooobooo
tnputlist DO UODO0O0O00O0O0OO0O0O0DODOOOOOOO
gobooooobooboooobooooboooooo
gooooooo
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e M
oct> global k <-—- k00O 0OO0O0OOO

oct> function tslocal(x) global k; k=x**2 end
Ooo0o0oo0ooooooooon
oct> tslocal(8)

k=64 <-- 00000 kOO0
oct> k
k=64 <--[0J0000O0OOOOOOOOOO

0011] 0D00000000000000000000
OOooo0oooood
(i) 0000000 k=138x10"*JK' 000000
0000 Ny4=6.02x10%0mol”' 0000000
0000000000 0000
4 mo\3 , mu?
= — 7 ——)d
@) vﬁf(QkT) 1)eXp< kT’) v
000o0o0oo0od

8kT
™

V=

0000000 £(T,m), vt(T,m) 00000000
0000000 T=300K00000000 my, =
28.0x 10 2kgmol ! 00D DOO0DOOODDOOO
0000000000000000000

000 woOODO0O0000000 wOO00
000000000000000000 wO0O0O000
0000000000000000 AODOOOO ADO
0000000 ADOOOO0O0000000A(w) 000
0000

[] ooooooo

2z

d ,
oz —wiT — AEL | giwt

dt

000D0000xz(t) =A™ 000000000000

obooooobooog
1

A:—

wd —iw\ — w?

O0obo0oooooooboo0oobooooonDOgn w =
100, A =10,20,50, 100 0000000000 10000
ooo

7.5 ODUOO0OooooboOon

ubodgbudgboob save00O0OonOon0o

[save [options] file vl w2 ... ]

00000000000000 (file)0 -00000OO
gobobobobobooooobobobobgobgn
O000D00000 “ascii” 0000000 0OOplain

gog

Amplitude
=

10 10°

010 000000000 wo=10000000000
bbb wObOOOoOOoboooooboooo

textUoooooooooooooooooooo

Obinary0 00000 OO00O0DOOCOCO “helpsave” 00O

gboooobooooobooobo

oct> x=linspace(0,1,11); y=x’;
oct> save testfile.dat x y

0O0D00O“testfile.dat” 000 O0O0O0O0OOODOOO
00000000 x00000D0O00000 yOOQoOO
O0000D0-asciiJ000default00 00000000
oo0odooOoOoooOoOoooooOoooogooogoo
000000000000 00D0O0O0D0Octave DOODO
0000000000000 000000O0O000000
O0000000000 octave 00 OOOOOOOODOO
ooooOOoO0ODOOO000UnxOOOO0O0O00000oo
000000000000 00D0 lessOO0OOQOOOOO
0000000..000000000000000000
000000000000 D0O0O0 “system(strings)”
O00000oOooooooooooogo

oct> system("less testfile.dat")

# Created by Octave 2.1.36, Wed Jul 17 17:00:04 2002 JST
<matuda@book2> <-- 000000000 O0O0OOOOO

# name: x

# type: matrix

# rows: 1

# columns: 11
00.10.20.30.40.50.60.70.80.91

# name: y

# type: matrix

# rows: 11

# columns: 1

H OOO0OOOOOO0OOoOOo
OO0 N d WN -

#J00b00b0ooooobobooooobooboooon
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goooooooobob0 tooobbooooog goooooooobouoooooobboooog

0000000 “load” 1000000 cunction ot = £10.0)
[1oad loptions] file ] xdot (1)=1/(1+t72);

end

load 000D 0ODOO0OOODOOODOOODOODOOOOOO 00o0ooooo00o0no
Joooooo0oboooboooboooobooboooon
00000000000000000000000000 %+x:0,z(o):1@$(t):eft 2)

O00000 “force” OODODODOODOOODODOOOO
OO0DO0O7clear vi v2...” OO0OO0O0OODOOODOOO
oobOoobobO0ooooobooobooobooooboooonbo
UlOclear UOOOOOO0OOOOOOoOobOoOonOOn
gbooboboooooboboboboooooobobogn
gobooooboboooboobooobooooboboooobo
oooooooo

oct> clear

oct> load testfile.dat
oct> who

***x local user variables:

.y

8 Loooond

0000o0o00ooooooooooooooooooon
0000000000000 0D0O0O0O1sode DOODOO
O 0Alan C. Hindmarsh OO OO ODOOOOODOOOO
000000000000000 Runge-Kutta OO0 O
0000000000000 0000OMarc Compere/d O
0000 rki4fixeddrk8fixed DD DO OOOODOO 4
00 800 Runge-Kutta 00 OO0 O0O00O0OOCOODODO

goooooo

2 )
000 (0000O0«xt)D00O0O0OD)00000O0OO
oo0DO000O00DOO0oO0Db0O0OD £kx,e) DO000O0O0OO
000 £(kx,t) D00O0OO0OOOOOCOODOODOO
@ = (1,22,23,--) 00000 ¢+00000000000

goo

dz,
dt

dzz
dt

= gl(.’I},t)

:92(m7t)
d:vk
R t
g7 gr(x,t)
doddddodooool1bdd0od0ooooooooaoao
gddooodoboooooooouoboooonboo

d 1
d%f = 20 =1 & a(t) =arctant +1 (1)

gog

gboobooboooogoo

xdot (1)=-x(1);
end

function xdot = f2(x,t) l

oobooooooooooobooooooooooon
oboooobooooobooooog

da:l dl‘g d2$1
oy Dooooo 2o
ar at ~ ar |

ubdd ;0 20000000000000000000

L gy~ sin(t), 2(0) = 1, #(0) = 0
dt? -, = S
1 1
& z(t) = cos2t — 5 sin 2t + 3 sint (3)

obooo2000000000

function xdot = £3(x,t)
xdot (1)=x(2);
xdot (2)=-4*x(1)+sin(t);
end

gooboobboobboobooobboobooo
goooooooooooooon

00 lsodelrk4fixedode78 UL OO OOOOONO
Odoooooooooooooooooooooooon
gooogogo

8.1 Isode

000000 1sede DOOOOOOOOODOO

[lsode(FCN, X0, T, T_CRIT) J

FCNOOO0OO0O0O0O0O0O0O0O0O0O0O0O0O0O00O0xo00
gbobd «O00000TO0OOO0DOO t0DbO0ODbOd
gboboooooooboobobogrT_.crRITOOOOO
gboboobooboo+obOoboboboboobooobon
obobooobooooooboooobooooboooobooo
0o{@o0oo0ooo00o0oUo0o0oUDooOoOoUoDo
gboooobooooboooooo
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000 8 l1lsode-fl.m

0013] ()0 (3) 000000 1sede 10000000

: function dx = fi1(x,t)
dx(1) = 1/(1+t72) ;
: end

: x=1lsode("f1", 1, t);
: gset key bottom
: title("Solution for x’=1/(1+t"2), x(0)=1")
9: plot(t, x, "@16;1lsode;");
10 : hold on
11: plot(t, atan(t)+1, "-;true;");
12 : pause
13: #
14 : # for creating PS figure
16: #
16 : gset term postscript eps color "Helvetica" 20
17 : gset out "lsode-fl.eps"
18 : replot

1

2

3

4:

5: t=linspace(0,10,101);
6

7

8

o000 110000DOoOooo0oooboooooo
goobD10000oooobbo10o0obobo0ooooo
ubooooooodbtets"De:0000OO0OO0ODO0O
obl:O0be:0000O0OD00ODOOOOOOODOOOO0OO
ooonlloooooooon

Solution for x'=1/(1+t"2), x(0)=1
2.6 T

24 B
22t M 1

1.8 - & 1
16 F © i
14 ¢ i
1.2 o i

Isode o
08 L L L L

011 000002 =1/(1+¢%), 2(0) =10 lsode
0000000000 arctan(t)+1 000

gog

gboobobpooobooooilz20olsiboboboboobn

Solution for x'=x, x(0)=1
1 T T
o Isode ©
09 Lo 4

08}l ° 1
07}t © |
06 o |
05 | 3 |
04 F O, i
03} |
02} g, 1

0.1 r E

012 00000 2'=2, 2(0)0 Isode 000000
0oog e 000

Solution for x"+4x=sin(t), x(0)=1, x’(0)=0
15

05 F é o @ Q I} o4

< e}
-05 > o [o} o ° B

15 I I I I

013 00000 2”+4x =sin(t), z(0) =1, 2/(0) =0
0 lsode 0000000000 cos2t—sin2t/6+sint/3
ggd

8.2 rk4fixed

400 Runge-KuttaODOODOODODODODOOOOOOO
goboobooooboobooooboooooooooo
U0 rk40000000000000000000 fixed
gbtgboboooboboboooboboobabod
U0Olsode DODODOOOOO¢0D0OD00DODODODO
O0linspace UOOOOOOOOOOOOOOOOOOO
oobooobooooooboooboooobooooooo
gbobobobooboboooobobobooood
gbobobobobobobobboboboboobo
gboboooooobooobooboobooboooooo
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0000000000 oded4b,0der8 00000 OOODOODO
uboobooboobooboboboooboobaon
Ubo0bOOo00b0O0O0000000 rk4fixeddrk8fixed
ooooOoobobooooboooboooooooooon
ooo

OooOd 9 rk4-f3.m

: function dx = £3(x,t)
dx(1) = x(2);

dx(2)=-4*x(1)+sin(t);
: end

¢ [t,x]=rk4fixed("£3", [0 10], [1; 0], 100, 1);
: xt=cos(2*t)-sin(2*t)/6+sin(t)/3;

: gset key bottom

9: title("Solution for x’’+4x=sin(t), x(0)=1, x’(0)=0"
10: plot(t, x(:,1), "@16;1lsode;");

11: hold on

12: plot(t, xt, "-;true;");

13 : pause

14 : % for creating PS figure

15: gset term postscript eps color "Helvetica" 20
16 : gset out "rk4-f3.eps"

17 : replot

O000000O01sede000O0O0OOOOO

[tout, xout] = rk4fixed(FCN, tspan, xO,
Nsteps, format, trace, count)

FCNOODOOOODOtspan JOOO0O ¢ 0ODO0O0O0O0OO
[tstart, tfinall] OO0OO00O0O00Ox0 00000
UOz0000000 OODODOO OOO0ODOOOO00O0
ubddobdlbdlsede DOOOOOOOOONO Nstep
U:00b0boboob0oob0obboob0odbdUformat
00000000000 x,t) 000 10(e,x) OOO
oboOoOoOOOoOoOob ooboobboobOoobooonDn
Ub0b000 1sode DO O0O0DOOOO0DOOODODOOODO
U000trace DO0OO00OOOOOOO0ODOOODOOODOO
Uboo0obOooooooboobOoboboboOdncount
ubodabouodaoooooaon
O000@)000000 rk4fixed 000000000
oobooooboboooboboo9ouuobboOooooooonn
O 1lsode UO0OO0O0M300000000000O00O0O

[0014/(0000000000) 00000000 200
0+00000000000000000000000 «
0000000000000000000000 s — ka
00000000000000000000000
dx
dt
00000000000000000

st

= (s — kx)x

se
z(t) = C’ + kest

oooooooo

(¢':ooooo

gog



